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While these proponents of the bill claim a national popular vote superior to the current 

system, this bill would actually maintain the same weaknesses as the Electoral College because 

the weaknesses of both of these systems lie in the underlying first-past-the-post voting method.  

 

First-Past-The-Post 

The first-past-the-post method (also called a plurality vote) is a voting method that elects 

the candidate with the most first place votes (�Voting Methods � 2011).  

Both the a national popular vote, as proposed by the bill, and the Electoral College use 

the first-past-the-post method. The proposed system uses a first-past-the-post method because 

it wants to elect the candidate that wins the most first place votes. The Electoral College utilizes 

the first-past-the-post voting method at two different points in the election. Initially, a state 

chooses its electoral representatives based on its state first-past-the-post popular vote (�What is 

the Electoral College? 2016� ). Then the electoral representatives vote for their candidate choice 

with first-past-the-post method (�What is the Electoral College?�  2016).  

There are two main weaknesses to the first-past-the-post voting method. The first 

weakness is that it does not require an actual majority. The other weakness is that it does not 

necessarily elect the most preferred candidate. 

 

Plurality Requirement 

One faulty assumption is that a national popular vote would produce a candidate that the 

majority of voters want. However, the first-past-the-post voting method does not require a 

majority when there are more than two candidates, only a plurality. 

Nations that use a first-past-the-post national popular vote exemplify this. The UK, one of 

the few developed nations that still uses first-past-the-post voting method, has not had a prime 







winner (B with forty-six percent of the votes). Considering the previously discussed Condorcet 

inconsistency, assume candidate C was actually the most preferred candidate.  

Under the current system, candidate A would win. Under the bill, candidate B would win. 

However, neither candidate won the majority of the votes. On top of that, neither candidate was 

the most preferred candidate. Both voting methods fall victim to these weakn�m ��䀀O�t th as
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